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VIVEKANANDAR TUITION CENTRE - ARAMBAKKAM
SSLC FIRST REVISION EXAMINATION ( FULL PORTION ) — 2019-20
MATHEMATICS /senflsin

Time Allowed : 15 min+ 3 hrs 7  Maximum Marks: 100
ST oemey  : 15 @bl + 3 wewfl Qs wHuGLeHEssT: 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Sfisysny: (1) oivesHd aleimdseEnnd Filwrs oFal ugsondl 2 _6ensT 6e6aums
giunTHHs Garenena)b.  oiFatugeled @empuilmillsr oemnmn
savaraniuuTaTiiLn o _Langwrs O&flallshsan)in.

(2) Beod sicvev I BHUL swioufensn L GEW 6TUPHIIHHBELD,
SY&ECHTYHUSBGD LWEILBHSH Coucwi(BlD.  LILMIFHET 6UH]T6USHDE
QusTFed LIWSTLBSHHNLD.

Note : This question paper contains four parts.
SBUL: RUNTHST6T BINE LG SHme1 e O\H 6L g).

PART -1 /u@® - |

(Marks: 14) / (wgluQueriase: 14) 1 x14=14

Note : (1) Answer all the 14 questions
(11) Choose the most suitable answer from the given four alternatives and write the option
code with the corresponding answer

&Ly (1) @ifalsv 2 sien 14 ellemésens@n allenl wWeiildbaa)ib.
(2) GarEsauul_[Bsien HINE WIBH ol safed Waayb CuUTHeHSHLINET allenenuish
CamhbsbsHa UL BLar almLulsaiun GaiHdk 61pHa|D.
1. If n(AxB)=6 and A = {1,3} then n(B) is n(Ax B) =6 vpmp A = {1,3} eresfled, n(B) syevrs
(1)1 (2) 2 (3)3 (4) 6
2. The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is
1 wese 10 ausopweter (SIetoih ET6UTHEDBL & LLUL) DEWETHE ETeuTHeMTEID eUGLbD Bl&&FAMIL 6Tetor
(1) 2025 (2) 5220 (3) 5025 (4) 2520
3. The solution of the system z+y—32=-6, —7y+72=7, 32=9 is
r4+y—3r=—6, —Ty+72=7, 32=9 eaem azn@ller Sie
(1) z=Ly=22=3 (2 z2=-1,y=22=3 @) z=-Ly=-22=3 (4) z=Ly=22=3
4. If Aisa 2x3 matrix and Bis a 3 x4 matrix, how many columns does AB have
A e sewilliar euflens 2 x 3, B eaaim sievofluflerr aurflens 3 x 4 ereofled, AB eredim
sl Blyebsafla erevorevoflsems

(1)3 (2)4 (3) 2 (4) 5
5. The GCDof (x' + 1) and x?—1is  (x’ + 1) wpgd x2 — 1 gyéueraupdsr . Qur.es
m -1 2 x+1 (3) x+1 @ x-1
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6. If in AABC, DE |BC. AB=36 cm, AC =2.4 cm and AD = 2.1 cm then the length of AE is

(1) 1.4 cm (2) 1.8 cm (3) 1.2 cm (4) 1.05 cm
AABC -9¢» DE | BC. AB =36 8.8, AC =2.4 .8 wpmip AD =2.1 &5 erevfled, AE —ufledr Hemd
(1) 1.4 &1 (2) 1.8 a1g18 (3) 1.2 &5 (4) 1.05 61515

7. The area of triangle formed by the points (-5,0) , (0,-5) and (5,0) is
(1) 0 sq.units (2) 25 sq.units (3) 5 sq.units (4) none of these
(-5,0) , (0,-5) oMb (5,0) gydw yeTeflsenned Siem&sLILIGD (P& BEHTenuT &Sl eor LT
(1) 0 s.000@®6T (2) 25 s. o0& 56T (3) 5 s.2100@H6T (4) ergiebledemed

8. (0,0) wHOID (-8,8) eredrm yeeflsemer Bewmettié@o CHMgnD&E 65MHE SHTeT Bl lgeir FMeY
The slope of the line which is perpendicular to a line joining the points (0,0) and (—8,8) is

(1) -1 (2) 1 (3) % (4) -8
9. 1-tan?45° =
(1) 1 (2) -1 3)0 (4) 2

10. If the ratio of the height of a tower and the length of its shadow is J3:1, then the
angle of elevation of the sun has measure

S Ganurse o LTADELD Sise Hloslsr BarsHne.b o drer eldsn /3 : 1, eefléd
Gflemerts smemID amHm& s evor SIETEUITET &)

(@) S50 (2) 30° (3) 90° (4) 60°

11. The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will be

(1) 12 cm (2) 10 cm (3) 13 cm (4) 5 cm
Sy 5 €&.L5 wHmb Fmywird 13 6F.5 2 oL w GriaulLé &mibiiledr & wiid
(1) 12 a8 (2) 10 ag.15 (3) 13 aig.b (4) 5 ag15

12. If the surface area of a sphere is 3677 cm?, then the radius of the sphere is equal to

(1)36 cm (2)9 cm (3)3 cm (4)3 mm .
8(m Carargdlsr susneruyiy 367 8.08.16 ererfld, 9|sir 7LD
(1) 36 Qe.if (2)9 Ga.uf (3) 3 @aff (4) 31818

13. If the mean and coefficient of variation of a data are 4 and 87.5% then the standard deviation is
em siefer egnefl LOMID WLINUTLGS 8@ WeonBw 4 oMb 87.5% erefle L el somers)
(1) 3.5 (2) 3 (3) 4.5 (4) 25
14. The probability of getting a job for a person is % . If the probability of not getting the
job is % then the value of z is
QO BUGSS Goueme HenLUusnaner Hlepsseur e g L Bauwed HewL Ssmod
; PG e L R J
@LusnHEne [Hlespsee)] E ereofled z-ufledT WwFLImenT &)

(1) 2 (2)1 (3) 3 (4) 1.5
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15.

16.

15

18.

19.

20.

21

22,

23

24.

29,

26.

PART -1l /ugd — 11

(Marks: 20) / (ogl16uesiaeir: 20) 10x 2=20

II. Answer 10 questions. Question No. 28 is compulsory.
10 ellembsend@ WEGD ool wellbsain. 28 gl alamalBg &L LTWWLTS ol wsiss BGouewi(BLd

If f(z) =3z -2, g(z) =2z + k andif fo g=go f, then find the value of .
If flz)=32-2, g(r)=2z+k wpmib f 0 g= g o feefled, k ulledr wHIELLE B6GoTS.

Find the number of integer solutions of 3z =1 (mod 15).
3z =1 (bl 15) ererp swETUNLIGHEG THHEDET (P(P ETETOT STEYHET L_6TETEI ETE0E STETOTS.

_2 m, — l(m + 2) are in G.P. Find the value of m.

T 2
—%, m, — %(m + 2) guélwer @ QUHEGS Qs suflmeuilsh o_eremer. 1 61 LS sTetors.
2 y : ; 2 2
Find 2H200+38 2’41044 o' 4205536 ot I ROREHUER
° —3r—28 2 —3z—28 2’ — 37— 28 T S

If the difference between the roots of the equation z* —13z + k =0 is 17 find .
2’ — 13z + k = 0 eredrm sL06edTLNL Iq60T clpeoruaefledr elgSlwnaid 17 erenfled k ~uledr wo&liiéh snetors.
If radii of two concentric circles are 4 cm and 5 cm then find the length of
the chord of one circle which is a tangent to the other circle.

@retorh, OLUNG enow eul L iusefledr umiser 4 QF.5, 5 0815 Sp@SLD. b euL SS60T HTEooTTeS]
LHODNH ULLSEDGS 6eMLEHMILIS eDIHSHTED H6UEULL SHS 60T HTeTll60r HeD HITeTuTs.
A(0,5), B(5,0) and C(—4,-7) are vertices of a triangle then find The centroid.

A(0,5), B(5,0) wpmip C(—4,—7) -8 (PpeweT&HeneHs: &ML (p&EaHnenntsHH et
HbHCSHML(H 6MOWILD &IT6T0TS.

Show that the straight lines 22+ 3y —8=0 and 4z + 6y + 18 =0 are parallel.

20 +3y—8=0, 42+ 6y + 18 = 0 8w CriCanh&er enetr 6T60TéH SML(bs.

1+ sinf 1+sind
Prove that ,/——— =secf + tan¥. ,fﬂ =sect +tanf eretTuens MHleBLISSD.
1—sinf 1—siné

A ladder leaning against a vertical wall, makes an angle of 60° with the ground.

The foot of the ladder is 3.5 m away from the wall. Find the length of the ladder.

goufley gmisg oussILL g geafllutag sonyLsdr 60° Carmrsms gnubSsEns.
sysufluflsir Sjip GeuDBledlbgl 3.5 1 gmysH o cmarg) erarfled, ersmiluflsir Esdemaes sramme.

If the total surface area of a cone of radius 7cm is 704 cm?, then find its slant height.
704 &.0&.5 6longsl) UL 6\&mesorL &(H FnlbLl60T S 7 61815 er6vfled, HBHET FMYWITLD SHTETIE.

A wall clock strikes the bell once at 1 o clock, 2 times at 2 o’ clock, 3 times at 3 o’
clock and so on. How many times will it strike in a particular day. Find the standard
deviation of the number of strikes the bell make a day.

&b &eul HlasnIb | wellée 1 (Wwenmuwb, 2 etlleE 2 (emm, 3 estflé 3 (WepmuLb
&0l er(elIdm s eTeulled, b Hrafléd bHHMTID eT6UGIETEY (WD 660l ergLiy? Gogid
BIBMILD eT(QUILLD 660) 6T6toT600f5% 6008 HerfledT HlLL 6le0&H&HID SHITETOT .

27. If P(A)=0.37, P(B) = 0.42, P(An B) = 0.09 then find P(AU B).

P(A)=0.37, P(B)=0.42, P(ANB)=0.09 eefl®, P(AUB) 8& sneus. Page - 03



28

29:

30.

il

32

53¢

34.

35

36.

37,

. Find the maximum volume of a cone that can be carved out of a solid hemisphere of radius  units.
I SIDGEHET SHOD BT Qb H 6D SIS BaresHONmHHS 6Ll 6T (b & LILICHLD
&n.1DL960T LBLIGILITH &60TS16T6) 6T60T60T 2
PART -III / ugd- 11
(Marks: 50) / (L0&H\IGILIGTIT BT 50) 10x5=50

[11. Answer 10 questions. Question No. 42 is compulsory. . : s
10 clembaense W GD oL uassab. 42 ug elamaing oHLLTLILTE afleL werllde CouewiGL

Given A={1,2,3}, B=1{2,3,5}, C={3,4}and D = {1,3,5}, check if
(ANC)x (BN D)= (AxB)N(C x D) is true?

A={1,2,3}), B={2,3,5}, C={3,4} wpmidp D = {1,3,5} erevfled

(ANC)x (BN D)= (AxB)N(C x D) erebig] £ _e0016mIOWIT 6T 60T Gandléssa..
Let A={1,2,3,4} and B={2,58,11,14} be two sets. Let f:A— B bea

function given by f(z) = 3z — 1. Represent this function
(i) by arrow diagram (ii) in a table form iii) as a set of ordered pairs (iv) in a graphical form

A=1{1,234} wpmib B ={2,5,8,11,14} erebruerr S sewoihismer 6TE0T 5.
f:A— B ergqup sy f(z) =3z — 1 erend Q&MbesLILL (beTeng). B&anTLilenst

(i) swpused UL (i) s Leuemeor (iii) auflensé Gemgseflsn b (iv)euewILLLD SHALHDTE GIéHS

Find the sum of all odd positive integers less than 450.

450-6&5 GEDDEITES 2_6TeT JDaTSS KDeOD Llens W (p&serleot & (bSH6D HMETUTS.
How many terms of the series 1° +2° + 3" + - should be taken to get the sum 144007

1P +2° 43 1. qrebrm QBNLflel T&HemenT £ MIILSHEDETS Fn 10 ETE B (bBHEd 14400 HewL&HGSLD?

Find the square root of the expression ixz_ + Al +13 — 30y “r &/)—

Y T x”
9y . e ’ :
+13— % - /A erentm G&memeuuleln U &S CLPEDLD SHIT600TS.
Y Yy ar z?

EEl A

T
State and prove Angle Bisector Theorem.  Gamewor @\ mewbai’iyd Cammid — sTipd Himin)s.

47 20z
— + —_—

2
Solve for z, y: | ,|+ 2 T, y -85 Si56. .

Y

Find the equation of the perpendicular bisector of the line joining the points A(—4,2) and B(6,—4).

A(—4,2) opmub B(6,— 4) ereiip ereflamemar BeoatrdGD LIS &5FHCHMIG6NT FOSTLML DL & SHITET0Ts

2 o 4
If CS(.)S ; = p and sclgsg = ¢, then prove that p’¢*(p* + ¢’ +3)=1
in
cos’ § S Al e
sifle el cosf = g aafled, p’g’(p* + ¢ +3) = | o1 Hepibs.

38. A toy is in the shape of a cylinder surmounted by a hemisphere. The height of the toy is 25 cm.

Find the total surface area of the toy if its common diameter is 12 cm.
7] 2_memerder 85 @F swrsGsnend eneruhgeunn 2 6Ter Qb eUMbeDUTET QLTSS o Wb

25 61518 sy@b. siHen efILLD 12 6&.15 erevfled, EUMbemLOUTEDT QuoMSSLI LDLILTLIEDUS ST6Trs. 5 5
age -



39. A solid metalic cylinder of diameter 4cm and height 45cm. is melted and recast info

identical spherical shots of radius 3cm each. Find the number of spherical shots.

4 Qeaf oL pin 45 Qeaf 2 wipih Qesmeior G’ L 2 GO 2G5S 3 s e
DYT(eTTeT SetirLod; CaMeTRIGHTE: LomDfl6oTITeV, HlemL_& @b Camemmigerflear 6T600T600T | BEmESHEMI SHIT .

40. Find the mean and variance of the first 7 natural numbers. . .
W n Bwe eresursefler sgnar] LHOID eleés aui&eE arnafleenensd &neoos

41. Two dice are rolled together. Find the probability of getting a doublet or sum of faces as 4.
@retoit, UseHLEET £ (BLLILGAOTDET. BIetuih (P& wHlILsEHD F00M8 B(HEE S0 (P&
LHILS66T 8o bGHed 4 Sha SBLILSD ST 1Fl& D& & em6LE &HTE00TE?

42. Find the area of a triangle formed by the lines 3z +y—2=0, 5z + 2y—3=0and 22—y~ =

32+y—2=0,52+2y—3=0wpmo2z —y—3=0 Qbélw@&n@&mnd)siswwéesﬂuwb

(W&B&Mevor S 60T LITLIL| SIT600TE.

PART -1V/ ugd- IV —

(Marks: 16) / (o@liGLswaEssi: 16)
IV. Answer both questions.
G\ elemebasenohEn 6l Werldbasa)L.
43. (@) Construct a APQR such that QR = 6.5 cm, 2P = 60° and the altitude from P.
to QR is of length 4.5 cm
(&) QR = 6.505.6, 2P = 60° wpmib o &4 P—embs QR -5& eusnhyuiliul L
GHHIGCHTL 196 Hermd 4.5 GFb. 2 e w APQR auemys.
( or /siebens )

(b) Two ships are sailing in the sea on either sides of a lighthouse. The angle of
elevation of the top of the lighthouse as observed from the ships are 30° and 45°
respectively. If the lighthouse is 200 m high, find the distance between the two

ships. (V3 =1.732)

(=) Bm BUUBT BRG] ailevbssHe B LbsRsHaID S edsd LLsmILD Oeuwslsmer. @
aBULsE6TehHS Seommemy elevbssdle o Fduls gnmahGasTammmsi (oopGuw 30° whmib
45° oy,  somsm] alvsssdE 2 wpb 200 1S a1anfley, @) BB EHGEH  Benl Gui
2 6l GpTemsvsmeud @rems. (V3 = 1.732 )

44. (a) Draw the graph of y =x2+3x+2 and use it to solve 2 2 E1E=10)

(@) Yy =x*+3x+2 - aumguLd cusnha, BB LWSLGHH x2 4+ 2x+ 1= 0 e
FLORTTL 9enaTd; HiTdsa)ib. =

(or / omvevgi)
1
(b) Solve §($+y—5)=y——z=2z—11=9~(2:+2z)

S|
(®1) &6, — -5) = =
o)1) S 3(:r,+y 5)—y—z—2:r,—11=9—(3:+2z)

All the Best!

Prepared by :
S.Ramesh,D.EEE,B.Tech,
Vivekanadar Tuition Centre-Arambakkam 601 201 Page - 05 End.

Email : ram.sekar844@gmail.
Mobile : 7094629011 ] ik
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